


;E’p*(set) e * {}
-«}Ji-‘(dlct) e H {}
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7R 3] & (Data Type )

REEN
T
1%,
e
T
AT
#5
3t
E
FH

NUMeric

Al (numeric) §- &

float
complex
str
bytes

sequence Dytearry

list
tuple

set

dict

]l

% (sequence)

1mmutab1e

1mmutable
immutable
immutable
mutable
mutable
immutable

mutable

kev:immutable

[1,"Two",343]]
(3,4,06,8,10])
{5,3,2,1}

("A":10, "B":20}




7 4] & (Data Type )

m?’?? print (type(3.14))

<class '"float'>

int S prlnt (type(2+47))
float il4 <class 'complex'>
complex 2+4 >»> print (type("Hello"))
R <class 'str'>
= Helo >»>> print (type([1,2,3,"Two"]))
bytes <class "list'>
bytearry =»» print (tyvpe({l.2.3}))

~<class 'set'>
list | [1,"Two",3+3j] >>> print (type((1.2.3)))

tup| (3468107 |<class "tuple’>

— ! ] >»» print (type( {"a":1, "b":2}))
set 12,3,2,1} <class 'dict'>

dict [{"a":10, "B":20}| >>>




B 7 ?’.“;3’-? BT E
| Operation [Resut

Xins X ZEG1ES H
xnotins XBEFIESH
s +1 “Ee s it
s*nORNn*s |SEfEnJGELE S
| s[i] B ESE I BT E
s[i:j] RAEFESHE I B BImFE (FEZE])
s[i:j:k] |ERHEZFEIMEI F/ -1 BITTE, BfRkK
len(s) ={E s BIRE
min(s) ={5 s By ME
max(s) [={8 S HYgw A (E
sindex(x) |[EIfEs HFE—XHR xBYESHE
s.count(x) |[EI{E s g x HIRAYREY




5= [1: 2, 3, 4, 5, 6, 7, 8]
¥= 3

X in s = True

x not in s = False

t=["a"', 'b", 'c']

3
s+t= [1, 2, 3, 4, 5, 6, 7, 8, "a', 'b", "c']
5¥)= [1J 2, 3, 4, 5, 6, 7, 8, 1, 2, 3,
3*t=['a', 'b", 'c', 'a', 'b", 'c', 'a', 'b',
s[3]= 4

s[1:5]= [2, 3, 4, 5]
s[1:5:2]= [2, 4]
len,min,max= 8 1 8
s.index(5)= 4
s.count(5)= 1

8s=[1,2,3,4,5,6,7,8]

9t=['a','b’, 'c']

10 x=3

11lprint ("s=",s)

12 print ("x=",x)

12print ("x in s =", x in s)
14print ("x not in s =", x not in s)
1Sprint ("t=",t)

16 print ("s+t=",s+t)
17 print ("s*2=",s%2)
18 print ("3*t=",3*t)
18print ("s[3]=",s[3])
20print ("S[1:5]=",s[1:5])
21print ("S[1:5:2]=",s[1:5:2])
22print ("len,min,max=",len(s),min(s),max(s))
22print ("s.index(5)=",s.index(5))
24print ("s.count(5)=",s.count(5))




T¥4-1

s=[5,7,6,8,4]
t=[1,3,2,3]
fRI5 s+2™t BV 7], 5B % T FIRRE

(1
(2
(3
(4
(5
(6
(7

print (s+27t)
B/ ME=
A E=
&E =

Jngd =

HER =
t.count(3) =

Tt ™ ™ ™ ™ ™ ™ ™

(8) t.index(3) =
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LIST 714§ = £ 3 ket . o
i 17 4 4o, ; iz frp Jﬁ::a:-::};sg

append(x) t7] & & #RiE 4 B A EX o P 5 RHE 5B K -

count(x) i w F 2 x A7 & ¥ It H o

extend(L) #-7]& L¥? en&k 554 [ 7] & ¢ o 3£ w None o

Index(X) iEw 7| £ ¢ T Rp itxns - BrlLE DRI c @ TR R A

235 o

insert(i,x) &=z 3l 2 i~ % w36 » P £ X o delistinsert(0,X) &% — 7w §&

» 47 12 o ik w None o

pop(x) #1 Kf?nj% PRSI GXNAIE > TEPZLIFNE o FAdp LR 5

» POPE W FI| & B (S — TR o

remove(x) # 1% 71 & ¢ T fedr Exendi - Bk o TRARWALRY

£ w None o

reverse() g ®| 7| & ~ % GVEE o

sort() 7] & £ 5 > £ #none o

max(), min() & = &}




o o {11 [ o O of MRS 0 0L o f 0l O

MR 1 M) B ] I o

HT &5 — B2 & ['a', 'b", 'c¢', 1, 2]

- — Al I 1A [IEI_1I Ibl_, Il:l_, 1_, 2, 3:|
IstA = [a, b’ c 1, 2] ['a’, 'b', 'c', td', 1, 2, 3]
print(listA) ['a', 'b', 'c', 'd', 1, 2, 3, 7, 8]

# o list ? 3 4 = 3

#1.7% * append = listehk B4 H B~ % o
listA.append(3)

print (listA)

#]2.1% *ojnsert B-H B~ 23> Il list? o Bcim S8R IE > B
7

listA.insert(3, 'd") # &= & 5 3l v — B~ 3%
print (listA)

#3.7 * extend * % $% list

listA.extend([7, 8])

print (listA)




T e 1

Append vs Extend

# extend {r append Lizﬁiﬁﬁ‘/  RFE P >R oo

#extend &= - B xﬁx iz B AR E - B st

#I 2R liste chr Bz DR list? o

#5 -2 5 o append &% - B S-dkc o 2B SUF MLAUE P ROREE T
» 0¥ i3 H B if 4o 3 list E'ﬁ/i%‘ﬁ °

listA.append(['a’,100])

i i [Ial.i Ibl.i ICIJ Idl.i 11 2.1 3.1 7.! 8.1 [Ial.i 163]]
print (listA) 1o
6
#EBZ| L LB 0

orint (len(listA)) #10  Faise

# % list ¥ JE%
print (listA.index(3)) # index % list # % 45— B Eehp = R T EW

L

2 5l 08 o

rint (IlstA index('a’)) #4c% e list » ;X5 45 3| @ » Python ¢ 313 -
'@‘aﬁi
print(5inlistA) # & P3¢ - BEALE A listp > @& * ino 4ok EF &
» vk w True » & BJ:E 5 False o

%n}-




7 _list ¥ J"'J‘,f;w,%

o HE_list P pirg = =
* IistA remove(3 # remove 44—\Iist PO Kﬁ—- [FRES ifl

NI ook B list? X3 51 E ’Python g 5% —

¢ print (listA)

+ print (listA. pop()) # pop v

LT e 1 O

T i+ F M“f list s {8 —
=

§ i
Bz RISGETHE L F D

del listA[0] # # “,f 7] %Tt‘ »— B3
print (listA)
del listA[0:2] # # ] “,f &P F-FJrk - Bz
p”nt (IIStA) a', 'b', 'c', 'd', 1, 2, 7, 8, ['a', 100]]
# Elil: fl; IISt E: 1263 'd', 1, 2, 7, 8]
d, 1, 2, 7, 8]

for item In listA:
print (item)

[ L I T P T T e W o W e W e |

"p




ot

List enk & & 5| £ :PL}-?-

print (& X list : ' listA) Egilst [3 - 12 21 7, ds%
listA.reverse() :[s, 71,521' 1]

print (‘&= #list . ' listA) NEIHRHEE ¢ [1, 2, 7, 8]
listA.pop() REVNGEE ¢ [8, 7, 2, 1]
print (listA) ?

#H~Zz 2 ApR R EEREd o3 [1, 2, 7, 8]
listA. sort()

print (/] 3] < # & . " listA)

listA. sort(reverse—True)

print (‘= 3]/ # & : ' listA)

print (max(llstA))

print (min(listA))

print (sorted(listA))




¢

List 3 3':3 1

EFE

m A= ||St()

s A= list(range(1,4))
s A =list (“ABCD”)

In [1]: A=list()

In [2]: A

Out[2]: []

In [3]: A =[]

In [4]: A

Qut[4]: []

In [5]: A = [1,2,3]
In [B]: A

Out[e]: [1, 2, 3]
In [7]: A = list(range(1,4))
In [8]: A

Out[8]: [1, 2, 3]

In [12]: A = list ("ABCD")

In [13]: A
Out[13]: ['A", 'B", 'C", 'D"]

14




List 3 353 2

¢ String.format
* String.split ("sep")
m "1 2 3".split()
s '1,2,3".split(’,)
* P\ iE O
= len(list "ABCD"))
= Sum([1,2,3,4,5])
= max([1,2,3,4,5])

In [16]: "1 2 3" spllt()
out[16]: ['1', "2', '3"]

In [17]: "1,2,3".split(',")
Ou

[
[
[

t[17]: ['1', '2', '3"]
[18]: len(list ("ABCD™))
[18]: 4
[19]: sum([1,2,3,4,5])

t[19]: 15

In [29]: max([1,2,3,4,5])
Out[29]: 5

15




List 0% 3

4 |mp0rt random In [25]: import random

. a:[1’2,3’4’5] In [26]: a=[1,2,3,4,5]
I 27]: dom.shuffl

« random.shuffle(a) " 7% reon e
In [28]: a

* 3 out[28]: [5, 1, 4, 3, 2]

-

~@¢%s§;‘s§—+ +, ﬁ'ﬁ_’%ﬁ—@ |




| ist ﬁ 353 4

-

o 1L iF B S
n [1,2,3] >[1,2,4]
x [1,2,3]'=[1,2,4]
s [1,2,3]==[3,2,1]
s [2,1,3]>[1,5,7]

*in ¥ notini¥ & +
=2 In[a,'b,'c'
= 1 notin['a','b,'c']

In [34]:
Out[34]:

In [35]:
Out[35]:

In [36]:
Out[36]:

In [37]:
Qut[37]:

In [38]:
Out[38]:

In [39]:
Out[39]:

[1,2,3] > [1,2,4]
False

[1,2,3]!= [1,2,4]
True

[1,2,3]==[3,2,1]
False
[2,1,3]>[1,5,7]
True

rar 1n [rar rbr rcr]
True

17




/ 3 1 [
T ¥4-2
* 711 * IDLE 2 Spyder (% - )= = #iciz |
F¥ T ezitk
o B 5w py £ 2N 2% A E
T %I IPython & —{#E3h{T ex4-2sam.py

B IELL exd-2sam.py Gk ex4-2.py &R0 T E

exd-2.py 4558

fE=E4-2 HEIE xxXx 22 1 xxx
B=[9,7,5,3,1,10,8,6,4,2]

max= 10

min= 1

/\-># B=[1,2,3,4,5,6,7,8,9,10]

#-->/)\ B=[10,9,8,7,6,5,4,3,2,1]

18




F ¥t(tuple) : & * -] 3250( )

* tuplei® * ();

19




Tuple ]+

>>> tuplel = (20, 3.14, "=##:», 4+23, [1,2,3]1, (4,5,6), €+93)
>>> tuplel

(20, 3.14, '=HAH:*, (4+23), [1, 2, 31, (4, 5, €), (6+93))

>>> tuplel.count (20)

1

>>> tuplel.

count

index

20




¢ =2 5

O a:(1,2,3)

m a=tu
m a=tu
m a=tU

- a:tuple((l,z,g)) out[11]: ('A', 'B', 'C', 'D')
In [12]: a=tuple(range(1,6))
In [13]: a
= = out[13]: (1, 2, 3, 4, 5)
Ole( ABCD ) In [14]: a=tuple(i*2 for 1 in range(1,4))
ple(range(1,6)) ol &, 4. o

Y1

::EH. (tuple) In [1@]: a=tuple("ABCD")

In [11]: a

ple(i*2 for 1 in range(1,4))

21




RY 2R Hep

8a=(1,3,5)
(len(a))
(max(a))
(min(a))
(sum(a))

O print
10 print
11print
12 print
13 print
14 print
15 print
16 print
17 print

19 print

(a + tuple("ABCD"))

(3*a)
(a ==

(a ==

(1,3,5))
(5,3,1))

(a < (5,3,1))
18 a=tuple(range(1,10))

(a)

20 print (a[2:5])
21print (a[5:-1])

i B (4-2tuple.py)

In [24]: runfile('D:/Users/yp719
PyNo4 ")

22




23




* a=set() set(;
1, 2,

* a=set({1,2,3}) }-1, 2,

* a={1,2,3} S

1] {1" 2"
* a=set("ABCDAB") {2, 4,

* a=set(range(1,6))
+ a=set(i*2 for i in range(1,4))

3}
3}
A", 'C’
3, 4, 5
6}

)

IBI}

24




P\%&li\:

* a={1,2,3,4,5}
* print(len(a))

¢ print(max(a))
¢ print(min(a))
¢ print(sum(a))

= = ouou

25




s FEFAF AR, EHF T, gI[], T K
[start:end]

¢ L £ A& in,notin, ==,1=,>,>= < <=
¢ 51<=s2 £ 57 S1 & S2 e+ B & (S2 5 Slei
LR E)

*51<s2 %77 sl 3 S2 ¢nF + B £ (525 sl
EAREE)

26

<




- W - R

¢ T3 setadd(x) *r » — B~ % X

¢ B~ 11 set.pop()

* 4f % set.copy()

* ",f set.clear()

¢ sl.issubset(s2) sl =z S2 en=3 & £ 87
¢ sl.isupperset(s2) s1 = S2 ez & & v5 7

27




B £ i85 (4-3setpy)

¢ % B Intersection

= Set.intersection(s)

= Set.intersection_update(s) < £
¢ B B union

= Set.union(s)

s Set.update(s) 2 & f¢ § #Tset

N\
G
=
e
-
w
M
o

21s1={1,2,3} {1, 2, 3}
22 s2={3,5,7} {3, 5, 7}
23 s3=sl.union(s2) {1, 2, 3, 5, 7}
24print(sl) ;print(s2) ;print(s3) {1, 2, 3, 5, 7}
25 sl.update(s2) {3, 5, 7}
26 print(sl) ;print(s2) ;print(s3) {1, 2, 3, 5, 7}

28




&3

¢ 3 # difference : set-s
= Set.difference(s)
= set.difference update(s)

FH (4-3set.py)

1351={1,2,3,5} {1, 2, 3, 5}
14 s2={3,5,7,9}

15s3=sl1.difference(s2) {9, 3, 5, 7}
16 print(sl) ;print(s2) ;print(s3) {1, 2}

17 s3=s2.difference(sl) {1, 2, 3, 5}
18 print(sl) ;print(s2) ;print(s3) {9, 3, 5, 7}
19

20 {9.!' 7}

29




FEPPHEFY

ot

Set Operation

X in set X 2ETE set th
xnotins X 2EFTE set HH
set1 & set2  #fiH; set1 #1 set2 {9358 (AND)
set!|set2  #fid set! 1 set2 fyEiEE (OR)
set1 “set2 i, set1 fi1 set2 pyifigas
set1-set2 |t set #1 set2 Hy=&
- setl<set2 |HEf set! EFE & set2 AYE F-E (proper subset)
| set! <=set2 HIEF set! BFE A, set2 ByFE (subset)
len(set) [E1{E set BT HEE
min(set)  [E set BIEJME (setrh T B8 A FIELAE)
max(set) |[ElE set ByRA (& (setrh T H/H A FIALEE)




® 2 VS 3E

set1.intersection(set2) = set1 & sef?
set1.union(set2) = set1 | set2
set1.symmetric_difference(set2) = set1 * sey2
set1 . difference(set2) = set1 - set2
set1.issubset(set2) = set1 <=sef2
set1.issuperset(set2) = set1 >=sef?2
set1.isdisjoint(set?) [=1{E setl f1 sel2 HE72E, FHEH | Atrue
set.copy() (=118 set BYTEBIES
set.add(x) N X B set BT
set.remove(x) fie set HfZfR X TTF

3k




T ¥ 4-3
» ;711 * IDLE 2 Spyder (# - )%= = #ici™
LEW T S vE
n % B py 2 ARV 5 AR
s 3257 (S 1U82)—(smsz)

32




:

@ PR (S1US2) — (S1NS2)

@0~
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F 2 (dict) : #* 1 328{ )

¢ dictiz * { };

o JEELA G T 0L B i P TR

o dicter| fk 5 & B eh, 12 * key k& %,
* key’g 5 7 ¥ % 07 4 4] i (ex:int, str)

34




key value

>>> dictl = {"a":100, "b":3.14, "c":"%@f:", "dv:349j, "e":[1,2,3,4]}
>>> dictl

{*a': 100, 'b': 3.14, ‘'c': 'H3@H:', 'd': (3+93), ‘'e': [1, 2, 3, 4]}
>>> dictl["e"]

(1, 2, 3, 4]




20

dict :& &

| DictOperation [Resut
dictlkey] [={& dict 5= key B9 value

dictlkey]=value #57E value &5 dict Hhg} key

del dictlkey] il% dict 5= key Rirsff&HY value

keyindict |flEl key 2E7E dict

key notindict ¥l key E2&E-F7£ dict 51
iter(dict)  |[EI{E dict By key 2I7RVR RS
len(dict)  |[=I{F dict BYEC = Sk EEx

36




ot

dict & ¥k

Dict method
dict.clear() BZEE dict By &R
dict.copy() tEEY dict

dict fromkeys(seq[, value])

Ll seq & key, Bt T-&1d key 1H[F value

dict get(key[, default])

[ dict o= key BY{E, F#H([={E default (=none)

dict.items() (=& dict_items 1, {E &k FFEFHY keyvalue 5.
dict keys() =18 dict_keys #{, {EA{FRETERY key 5T
dict pop(key], defaulf]) 2% dict o key Y, ##=H( =18 default
dict popitem() EE 405 —4H keyvalue

dict setdefault(key|, default])

%= key 1£ dict &, Bi[=]{& value; ZF&H[fin A Kkey.default

dict1.update([dict2])

e dict2 JsinE] dict

dict.values()

=118 dict_values ¥+, {E5FREFHY value [F5.

37 |




dict ]+

8dl = {"id"':5, 'name':'john', 'age':18, 8:'a number', (1, 2):100}
9d2 = dict(id=5, name="john', age=18)

10 print{dl)

11 print(d2)

12

12 print(dl[ "1d"])

14 print{di[8])

1Sprint{di[{(1, 2)])
16 print{d2[ "'name"'])
17 print{d2[ 'age"])

{'id': 5, 'name': 'john', 'age': 18, 8: 'a number', (1, 2): 100}
{'id': 5, 'name': 'john', ‘'age': 18}

5

a number

100

john

18

{'id': 5, 'name': 'john', ‘'age': 18, 8: 'a number', (1, 2): 1le®, 'A': 65, 'C': 67, 'E': 69}

38




19

20d3 = {chr{c):c for ¢ in [65,67,69]}
21 print(d3)

22

23 for data in d3.keys():

24 print(data)

25 for i, data in enumerate(d3.keys()):
26 print(i, data)

27

28 for data in d3.values():

29 print({data)

30 for i, data in enumerate{d3.values()):
31 print(i, data)

32

33 for data in d3.items():

34 print(data)

35for i, data in enumerate(d3.items()):
36 print(i, data)

37

38z = {**d1, **d2, **d3}

39 print{z)

{'id': 5, 'name': 'john', 'age':

dict ]+

'a number', (1, 2): 1@,




